50

< O X > (um) for PV

ST USRS SO § SO OO

-150]

.........

Ratig
N
o
(‘>]

O N W
e

[
NPT
O -

-5 0 5 10

Verte!

1520
X z (cm)

—éQOOO

> (u

©1500
Y

1000

500

Ratio

Vertex z (cm)

< d x > for merged vertices (um)

50 5

.
10 15 20

Vertex z (cm)

T !

T
—m

\/
a2
J4alag/legianny

F-N
new

R m— NS £

3 FS%B8M -8R

80k

a
o
o

<oy > (um) for PV

200

L.

.........

Ii
10
Verte:

1520
X z (cm)

50

...........

o
T[T TT T T[T T[T [TTTT[TITT[rTTT

....................

.........

.........

|l
0 5

10
Verte!

15 20
X z (cm)

500

Ratio

%

== :

5

1b 15 20
Vertex z (cm)

=5000

A4000

V3000

2000

1000

10 15 20
Vertex z (cm)

—~

0y > for merged vertices (um

< 0z > for merged vertices (um),

Ratio

500,

o

a
o
o

000

...........

............

0

10 15 20

Vertex z (cm)

000

800

600~

400

200

............

10 15 20

Vertex z (cm)




	Contents
	Page 1


